Rittal — The System.

Faster — better — worldwide.

7

iijJ

Vertical Cable
Management

;E_E_E"
(bl

9982239
9982240
9982241

d

[l

5]

Ll

[ Ty
Ny

il

o/

J-

Il

Assembly and operating instructions

=l

D X XD X D S RITTAL
|

FRIEDHELM LOH GROUP



AsMAAALAD®

Intended use:
Accessory for channeling and structuring the installed cabling

Parts list
Note: General hardware list, Components vary based on Kkit.
Object Description Quantity
Vertical Cable Manager 1

Mounting Bracket

Screw 5.5 x 13 Pan Torx 4
(recommended torque 51-65 IN-LB (6 Nm))
Screw M5 x 12 Pan Torx 4
(recommended torque 51-65 IN-LB (6 Nm))
Nut M5 Hex 4
Washer, Oversized 4

o

SCREW 5.5x 13 PAN TORX | Screw M5 x 12 Pan Torx Washer, Oversized Nut M5 Hex
(P/N 232470) (P/N 244462) (P/N 91100A140) (P/N 200202)

Tools Required

vy

&

6-Point Standard Socket, Ratchet Wrench,

1/4" Square Drive, 1/4" Square Drive
5mm Size ﬂl
Rittal Corporation 1 Rittal Place Urbana, OH 43078 RI T TAL

Telephone: +1 937-399-0500 Fax: +1 937-390-5599 Email: rittal@rittal.us « Website: http://www.ittal.us ]

TORX DRIVER




SCREW 5.5x 13 PAN TORX
(P/N 232470)

Screw M5 x 12 Pan Torx
(P/N 244462)

Washer, Oversized
(P/N 91100A140)

Nut M5 Hex
(P/N 200202)

VERTICAL CABLE MANAGER, 9982239 CONFIGURATION

—

B w

. ALIGN THE ROUND HOLES IN THE CABLE MANAGER WITH
THE SLOT IN THE MOUNTING BRACKET.
2. USING HARDWARE PROVIDED, ATTACH 2 BRACKETS TO THE
CABLE MANAGER.
PLACE CABLE MANAGER AGAINST EIA RAIL.
USING HARDWARE PROVIDED, ATTACH THE CABLE MANAGER
WITH THE MOUNTING BRACKETS TO HOLES IN EIA RAIL
(SEE LOCATION “A”, 2 PLACES).

MOUNTING BRACKET

CABLE MANAGER

Screw M5 x 12 Pan Torx
(P/N 244462)

SCREW 5.5x 13 PAN TORX

(P/N 232470)

Washer, Oversized
(P/N 91100A140)

CABLE MANAGER INSTALLATION INSTRUCTIONS

TS RAIL CONFIGURATUION

Rittal Corporation 1 Rittal Place Urbana, OH 43078

Telephone: +1 937-399-0500 Fax: +1 937-390-5599 Email: rittal@rittal.us « Website: http://www.rittal.us

EIA RAIL

Nut M5 Hex
(P/N 200202)

iak




Rittal — The System.

Faster — better — worldwide.

= Enclosures

= Power Distribution
= Climate Control

= |T Infrastructure

= Software & Services

Rittal North America LLC is the U.S subsidiary of Rittal GmbH & Co. KG and manufactures the worlds leading
Industrial and IT enclosures, racks and accessories, including climate control and power management systems
For industrial, data center, outdoor and hybrid applications. For more information about Rittal and its products,
Please visit www.rittal.us or call 1-800-447-4000.

Rittal North America LLC

1 Rittal Place ¢ Urbana, Ohio 43078 « USA

Phone: 937-399-0500 ¢ Fax: 937-390-5599 -« Toll-free: 800-477-4000
Email: rittal @RIittal.us « Website: http://www.rittal.us

Rittal Systems Ltd.

6485 Ordan Drive * Mississauga Ontario L5T 1X2 « Canada

Phone: 905-795-0777 « Fax: 905-795-9548 - Toll-free: 800- 399-0748
Email: marketing@rittal.ca « Website: http://www.rittal.ca

=

-m POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVICES , RI TTA L -

FRIEDHELM LOH GROUP


http://www.rittal.us/
mailto:Rittal@Rittal.us

